Form A
Worksheet-2
MTH-05: Elementary Algebra (Linear Equations / Inequalities in One Variable
First Name: ...
Last Name: .

1) Give the numerical coefficdentin the | 2) Simplify by combining like terms : j

second term of -x* - 2y + 5. -2j+4-9j+5j)
a)-2 a)-6j
b)-1 b)-9j
)5 c) -5j
d)4 d)-j
3) Simplify by combining like terms : 6t | 4) Convert to an algebraic expression
-8-(-4) -7t -6t and simplify: if x stands for the
unknown number : the sum of a
a)-5t - 12 number and six more than the
number.
b)3t -12
a)2x + 6
c)-7t- 4
byox + 7
d)3t -4
C) 6x
d)x + 6
5) Convert to an algebraic expression 6) Which of the following is a linear
and simplify: if x stands for the equation ?
unknown number : three times a
number subtracted from eight times 8- ~,2
the same number. X+ 35 =Tx
b) 2x c)5x+ 2 = 3x
<) 5x d)2x +ch =2
d)5 - 3x
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Form A
7)

Solve:x-22=5

a}x = 27
b)x = 17

_ 3
C) x W)
d)x = -7

a)50
b)-50
c)-2

d)2

8) Solve:12x =48

10) Solveforx: -6.5 = 3.2+x

12)

a}x =4
b)x = 36
c) X =%
d)x = 60

a)-9.7
b)9.7
c)-3.3

d)3.3

Solveforx:7x-5=9

a)%
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Form A
13)

15)

17)

Solve : 5(2x + 3) -9x =10

a)jx = 8
byx =5
c)x = -5
d)x = -8

Solvefory:4y-6=1-2y

a)%

b)%

c) -

W L

d)%

Solveforx:7x-5=3(x-2)+5
(1-3x)

4
19
3
19

c)-%

d}l,j—9

a
b)

14) Solve for x: 4(6x + 5) - 2(x - 5)

16)

=0

a) - 1—?

b)%

c)%

d)%
Solve for x : 8 + 3x = -4(x - 2)
a)-1
b)-2
c)0

d)1
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Form A
19)

21)

23)

Ifx-(lé'x) zi,then::c:

o L
b}%
0
d)%
One number is 11 more than

another number. If their sum is
45, find the larger number.

a)27
b)28
c)17

d)15
Rick is 4 years older than Bob.

Seven years ago sum of their ages

was 14. What is Bob's age at
present ?

a)o
b)7
c)5

d)12

20)

22)

24)

Solve: 0.5x + 1 =0.4x + 0.2
a)-8

b)-80

c)8

d)80

One number is 4 times another
number. If their sum is 35, find
the two numbers.

a)20, 15
b)10, 25
)7, 28

d)15, 90

A waitress has 3 times as many
dimes as nickels, one more
quarter than nickels that worth

$2.65 in total. Find how many
dimes she has.

a)s
b)4
c)9

d)12
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Form A

25) Find three consecutive even 26) Find the largest of three
integers, such that 4 times the consecutive odd integers, such
middle integer is 4 more than the that 3 umes the middle integer is
sum of first and third. 5 more than the sum of first and

third.
a)g, 10, 12
a)3
b)o, 2, 4
b)5
c)3, 5, 6
c)7
d)6, 8, 10
d)9
2?) The width of a rectangle is 5 feet ZB) The length of rectang_ular |I_I-iE-EE-_Df land is ©
. . . . . cm more than three times its width. The
less than its length. Find its width if perimeter is 418 cm. Find its dimensions.

the perimeter is 54 feet.
a)width = 50 cm, length = 190 cm

a)ll ft
b)width = 50 cm, length = 109 cm
b)16 ft
c)width = 33 cm, length = 108 cm
c)34.5 ft
d)width = 50 cm, length = 159 cm
d)6 ft
29) SolveforPinA=P+PrtifA=5,r| 30) Given the equation p = 2L + 2w.
=2, andt=6. Solve for Lif p =16 and w = 5.
a}% a)L =3
b)L=106
3
b}ﬁ c)L =16
3 d)L = 8
9713
13
d i
3
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31) Solve for tin the equation R =C -

33)

35)

Cxt.

a)(_;f?-:{R

Dy Gh

O

0C-E

Solve 6x + 5y = 10 for y.
a)y = 2 - gx

b)y = 2 + gx

Ay = -2 - gx

dyy = -2 +g

Solve V = L b h for h.
a)h = %

b)h = %

Oh = bTV

d)h = LEJ—V

32) Solvefory:2x+ my =-2x + ny

34)

36)

dx

a)n+m

b)n%xm

c)0

Solve y = mx + c for c.
a)c=y-mx
b)c =y + mx
c)c = -y - mx

dlc=mx -y

Sulvefurm:m+15—m'12

3 14
a)30
b)10
c)-10

d)-30
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Form A
37)

39)

41)

Suppose a map is scaled so that 1
inch represents 30 miles. How
many miles are represented by 2.5
inches on the map?

a)12 miles
b)ﬁ mile

c) 75 miles

d)% mile

Solve : 4x > -20
a)x = 5
b)x < 35
Ax = - 5

dx < - 5

Solve : -2y > -18
a)y > - 9

b)y =
Ay
d)y =

|
WO L WO

38)

40)

42)

Solve:x+3>8
a)x = 5

b)x{: - 5

5

cx =
dx = - 3

Solve : -9y = -36

a)y < - 4
b)yy = - 4
gy = 4

Y > - 4

Which of the following is a
solutionfor 2x+ 1 <3x-27?

a)x < 3

b)x}?ﬁ

ax =< - 3

dx = - 3
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43) Which of the following is a solution

45)

for6x +5>12x-137?
a)x < 3

b)x = 3

ax =< - 3

dx = - 3

Graph the inequality : 3x-3 <6

44)

46)

Solve the inequality :

a)x}%
b)x{%
c}x::-lﬁ—ﬁ
d)x}-l,j—ﬁ

Graph the inequality : 3x-5 >4
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47)

49)

Graph the inequality : 4 - 7x = 10 -
X

Change the statement to an
inequality : 5 is more than -2.

2 = 5
2 < 5
A < - 2
d)5 = 2

a) -

b) -

418)

50)

Graph the inequality : -2 < 3 - 2x
</

———
c) 2

-

i
2

e
d

s s

The solutions of the equation |3x
- 5| =4 are

a)o , 2
] 1
- 3, 3

A3,

—_ |

d)3
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1)
3)
5)
7)
9)

11)

13)

15)

17)

19)

21)
23)
25)
27)

29)

31)

33)

Worksheet-2
MTH-05: Elementary Algebra (Linear Equations / Inequalities in One Variable

Answer Keys

1)

6)

8)
10)

12)

14)

16)

18)

20)

22)
24)
26)
28)

30)

32)

34)

d)-j

a)2x + 6

c)dx+ 2 = 3x

a)x =4
a)-9.7

b)2

[a—

3

a)- T

[a—

c)7, 28

d)12

c)7

d)width = 50 cm, length = 159 cm

ajL=23
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35)

37)
39)
41)

43)

45)
47)

49)

_V
ah =1L

c)75 miles
ax = -
dyy = 9

ajx < 3

c)
d)

by - 2 <

36)

38)
40)
42)

44)

46)
48)

50)

d)-30

a)x

c)¥

b)x
d)x

b)

d)

a3,

> 5
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